
�������� �	
��
���������������������� !"#�$%&'()*+��$%&',-./012�(�3���4��56789�:;��3<=<0>?@�9()AB�CDE!��"#FG4��7HIJ9KLMNJ��0O��@�PQ�R97STJ-./0UV)�WX1Y��KLMN���"#���Z[�\0O��@���CDE��KLMN���"#]̂�Z[�\0O��@�9()_�������560�̀7̀8�abc8�CDEdefgh,ij�CDEd���WX1Y!kl���0̀h�̀mnJo!�Ip,-./0UVq�7J()rEstduvw�x7y9��z{|}~��]̂�����N�7x�&'(HV7�]-̂./�$%d��7Jl�*+�A��"���E�!��7�7�(��d�p,)@<@JdI����WX1Y���9��h�����d��h,��!k()��!�����WX1Y7y�(��-./�U9�� 8�¡¢£¤KN0¥la¦()��CDE��§̈F���!��WX���©ª!k(P«¬­K®./0g8§̈̄°�@�±7�WX4²³́Y��µ�0¶9�·i&'�3�yl��WX1Y�̧¹0º»�@�¼0u½()-./�§̈F<I�¾�¿�\J@�ÀÁÂ⊂ R
da�§̈FZ := {Z(s); s ∈ D}0:p()$%]̂s1,s2. . . ,sn ⊂ D7y�(§̈ÃÄZ(s1),Z(s2),. . . ,Z(sn)�¾�¿z(s1),z(s2),. . . ,z(sn)d$%-./!k()§̈FZdÅ«ÆÇÈ0̀8(E(Z(s)2)É∞ )���ÊË�s, s1, s2 ∈ D!

EZ(s) = µ, Cov{Z(s1), Z(s2))} = C(s1 − s2).ÌO]̂s1 − s2�\�ÍÎ�(ZÄC0Ï¡¢£¤KN(covariogram)�HÐ)q'�§̈F�Ñ́Ò!k()́ÒV ar{Z(s)}�s7HIÓ Æ¿C(0)!�C�ÔZÄC(s) = C(−s)!kl�
s1, s2, . . . , sn ∈ D,w1, w2, . . . , wn ∈ R7O@��

n∑

i=1

n∑

j=1

wiwjC(si − sj) ≥ 0dÕlT8)§̈FZdÖ×ØÆÇÈ0̀8���ÊË�s1, s2 ∈ D7O@��
E{Z(s1 − s2)} = 0,

V ar{Z(s1 − s2)} = 2γ(s1 − s2)dÕlT8)ÌO]̂7ÍÎ�(ZÄ2γ0¡¢£¤KN(variogram)�γ0ÙÚ¡¢£¤KN
(semivariogram)�ÛÐ)q'�ÜÝCDE�Þµ!�Ü×́ßw�!JQ�àárE�âãE�ä�E�åæE�âçEJè7éQê¶&'�9()_'I��Ø������0[ë��§̈F!ì-íî@�$%&',-./<I�ÊË�]̂!�§̈F�¿0ï%�(q�7k()��-./�ðñØU9�ò�@��óÖ�9Q8<�FG}ôõ�ö÷Jè��]̂0sj1=øù�sj2=úù!���()��}FG�0��­K®./0Sj=(sj1, sj2)��()�Ü�ûâü���ý� ��º�þ��ºJè�¿0t} «¬�ÿÒ¿��Ä���()k(Ãü�Sj!��ýt7y�($%¿��X(Sj , t)}¾Ä¿�!���()ôõ���}FG���ø35ù41ốú139ù45�́S1=(35.41,139.45)!���ý(t=0)�ûâüd10mm� ��º(t=1),þ��º(t=2)�ûâüd_'�'25mm,15mm�F��
X(S1, 0)=10,X(S1, 1)=25,X(S1, 2)=15�J()ö÷�]̂�S2=(35.26,139.38)!�X(S2, 0)= 0,X(S2, 1)=10,X(S22)=30�F��S1-S2=(35.41-

35.46,139.45-139.38)=(-0.05,0.07)!��ÿ‖ S1 − S2 ‖�‖ S1 − S2 ‖=
√
−0.052 + 0.072=0.086�D�!3()
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